
Mathematik Klasse 6
Name:

Brüche addieren und subtrahieren Lösung Nr. 6.12
23. 04. 2025

1. 1
2 + 1

4 = 2
4 + 1

4 = 3
4a) 3

5 + 7
10 = 6+7

10 = 13
10 = 1 3

10b)

11
8 + 34

7 = 9
8 + 25

7 = 63
56 + 200

56 = 263
56 = 441

56c) 7
9 + 12

7 = 7
9 + 9

7 = 49+81
63 = 130

63 = 2 4
63d)

4
11 + 9

13 = 52
143 + 99

143 = 151
143 = 1 8

143e) 31
6 + 55

8 = 19
6 + 45

8 = 76+135
24 = 201

24 = 819
24f)

2. 11
2 − 1

8 = 3
2 − 1

8 = 12
8 − 1

8 = 11
8 = 13

8a) 22
7 − 6

11 = 16
7 − 6

11 = 176−42
77 = 134

77 = 157
77b)

5
9 − 2

5 = 25−18
45 = 7

45c) 4
5 − 7

9 = 36
45 − 35

45 = 1
45d)

31
2 − 23

4 = 7
2 − 11

4 = 14
4 − 11

4 = 3
4e) 42

3 − 35
9 = 14

3 − 32
9 = 42−32

9 = 10
9 = 11

9f)

3. 1
2 + 1

3 + 1
6 = 3

6 + 2
6 + 1

6 = 6
6 = 1a)

13
4 + 5

6 − 7
8 = 7

4 + 5
6 − 7

8 = 42+20−21
24 = 41

24 = 117
24b)

21
3 − 5

6 − 7
9 = 7

3 − 5
6 − 7

9 = 42
18 − 15

18 − 14
18 = 13

18c)
10
11 + 23

4 = 10
11 + 11

4 = 40
44 + 121

44 = 161
44 = 329

44d)

63
8 − 34

7 = 51
8 − 25

7 = 357
56 − 200

56 = 157
56 = 245

56e)

1011
12 − 45

8 = 131
12 − 37

8 = 262
24 − 111

24 = 151
24 = 6 7

24f)
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